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IR (SANEAMLSESIA) 72,376 81,876 29,500
Jl2Zd (RS &) 72,376 81,876 29,500
201 LetHH| 51,576 53,976 A 2,400
01 AtR22/Hl 47,976 47,976 0
O1 L=t 39,240
PENZ2EEH(SAEXL 105)
2,500,000& x12& 30,000
DEADI & ZEgH EH.EEY
300, 000& «15CH»22] 9,000
Puszte HEE 30,0004 +8& 240
O5 sl 8,736
DOt 5228 7,000& #2621 x43| x 128 8,736
02 33223l 3,600 6,000 22,400
O3 A& &Hl=Altl 3,600
PEADIS RAEF 300,000& «12& 3,600
202 O4H| 11,700 8,400 3,300
01 =Wl 11,700 8,400 3,300
OANME=E J=PRee 0dd] 975,000 «12& 11,700
405 AHoHFESHI 9,100 19,500 A 10,400
01 MHARESFSH 9,100 19,500 A 10,400
OPC 1,300,000 »5CH 6,500
OFAX 500, 0003 *1CH 500
OF N PEE=l< D] 700, 0003 *3CH 2,100




